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Aä`{W©`m| Ho$ {bE {ZX}e

	1.	 àíZ-nwpñVH$m {_bVo hr _wI n¥îR> Ed§ A§{V_ n¥îR> _| {XE JE {ZX}em| H$mo AÀN>r 
Vah n‹T> b| Ÿ& àíZ nwpñVH$m _| bJr grb H$mo drjH$ Ho$ H$hZo go nyd© Z Imob| Ÿ&

	2.	 D$na {XE hþE {ZYm©[aV ñWmZm| _| AnZm AZwH«$_m§H$, CÎma-nwpñVH$m H$m H«$_m§H$ 
{bI| VWm AnZo hñVmja H$a| Ÿ&

	3.	 Amo.E_.Ama. CÎma-erQ> _| g_ñV à{dpîQ>`m§ {X`o J`o {ZX}emZwgma H$a| AÝ`Wm 
CÎma-erQ> H$m _yë`m§H$Z Zht {H$`m OmEJm Ÿ&

	4.	 grb ImobZo Ho$ ~mX gw{ZpíMV H$a b| {H$ àíZ-nwpñVH$m _| Hw$b n¥îR> D$na 
{bIo AZwgma {XE hþE h¢ VWm Cg_| g^r 200 àíZm| H$m _wÐU ghr h¡ Ÿ& {H$gr 
^r àH$ma H$s Ìw{Q> hmoZo na 15 {_ZQ> Ho$ A§Xa drjH$ H$mo gy{MV H$a ghr  
àíZ-nwpñVH$m àmßV H$a| Ÿ&

	5.	 àË`oH$ àíZ hoVw àíZ-nwpñVH$m _| àíZ Ho$ ZrMo {XE JE Mma {dH$ënm| _| go  
ghr/g~go Cn`wŠV Ho$db EH$ hr {dH$ën H$m M`Z H$a OMR CÎma erQ> _| ghr 
{dH$ën dmbo Jmobo H$mo Omo Cg àíZ Ho$ gab H«$_m§H$ go gå~§{YV hmo H$mbo ̀ m Zrbo  
~m°b-ßdmBÊQ> noZ go ^a| Ÿ&

	6.	 ghr CÎma dmbo Jmobo H$mo AÀN>r Vah go ^a|, AÝ`Wm CÎmam| H$m _yë`m§H$Z Zht hmoJm & 
BgH$s g_ñV {Oå_oXmar narjmWu H$s hmoJr & 

	7.	 àíZ-nwpñVH$m _| 200 dñVw{ZîR> àíZ {XE JE h¢ Ÿ& àË òH$ ghr CÎma hoVw 1 A§H$ Am~§{Q>V 
{H$`m J`m h¡ VWm JbV CÎma A§{H$V H$aZo na ¼ A§H$ H$mQ>o Om |̀Jo &

	8.	 àíZ-nwpñVH$m VWm CÎma-erQ> _| {Z{X©îQ> ñWmZm| na à{dpîQ>̀ m§ ^aZo Ho$ A{V[aŠV 
H$ht ^r Hw$N> Z {bI| Ÿ& AÝ`Wm OMR erQ> H$m _yë`m§H$Z Zht {H$`m Om òJm &

	9.	 narjm g_mpßV Ho$ CnamÝV Ho$db Amo.E_.Ama. CÎma-erQ> Ed§ àíZ nwpñVH$m H$s 
H$ìha noO drjH$ H$mo gm¢nZr h¡ & CÎma-erQ> H$s H$m~©Z H$m°nr VWm àíZ-nwpñVH$m 
narjmWu AnZo gmW bo Om gH$Vo h¢ &

	10.	 Bg àíZ-nwpñVH$m _| {ZåZ ^mJ hmo§Jo :-
		  àW_ àíZ nÌ - g^r Ho$ {bE A{Zdm`© – 150 Marks
								               à.g§
		  ^mJ - (1)	 (1)	 gm_mÝ` AÜ``Z	 –		  1 – 40
		  	 (2)	 amÁ` H$m gm_mÝ` kmZ	
		  ^mJ - (2)	 H$åß`yQ>a H$m gm_mÝ` OmZH$mar	 –	 41 – 70
		  ^mJ - (3)	 gm_mÝ` _mZ{gH$ `mo½`Vm	 –	 71 – 90
		  ^mJ - (4)	 gm_mÝ` J{UV	 –	 91 – 110
		  ^mJ - (5)	 gm_mÝ` {hÝXr	 –	 111 – 130 

^mJ - (6)	 gm_mÝ` A§J«oOr	 –	 131 – 150
		  {ÛVr` àíZ nÌ &		  – 50 Marks
		  (A) ñQ>oZmoJ«m\$s ({hÝXr) AWdm (~) ñQ>oZmoJ«m\$s(A§J«oOr)
		  narjm{W©`m| H$mo {ZX}e {X`m OmVm h¡ {H$, àW_ àíZ nÌ A{Zdm`© h¡ VWm 

{ÛVr` àíZ nÌ (A) Ed§ (~) _| go Ho$db EH$ hr {df` MwZ| &
11.	 `{X A§J«oOr ^mfm _| H$moB© g§Xoh h¡ Vmo {hÝXr ^mfm H$mo hr àm_m{UH$ _mZm Om òJm Ÿ&

instruction To candidates
	 1.	 Immediately after getting the booklet read instructions carefully, mentioned 

on the front and back page of the question booklet and do not open the 
seal given on the question booklet, unless asked by the invigilator.

	 2.	 Write your Roll No., Answer-Sheet No., in the specified places 
given above and put your signature.

	 3.	 Make all entries in the OMR Answer-Sheet as per the given 
instructions otherwise Answer-Sheet will not be evaluated.

	 4.	 After Opening the seal, ensure that the Question Booklet 
contains total no. of pages as mentioned above and printing 
of all the 200 questions is proper. If any discrepancy is found, 
inform the invigilator within 15 minutes and get the correct 
booklet.

	 5.	 While answering the question from the Question Booklet, for each 
question choose the correct/most appropriate option out of four 
options given, as answer and darken the circle provided against 
that option in the OMR Answer-Sheet, bearing the same serial 
number of the question. Darken the circle only with Black or Blue 
ball point pen.

	 6.	 Darken the circle of correct answer properly otherwise answers will 
not be evaluated. The candidate will be fully responsible for it.

	 7.	 There are 200 objective type questions in this Question Booklet.  
1 mark is allotted for each correct answer and ¼ mark will be 
deducted for each wrong answer.

	 8.	 Do not write anything anywhere in the Question Booklet and 
the Answer-Sheet except making entries in the specified places 
otherwise OMR Sheet will not be evaluated.

	 9.	 After completion of the examination, only OMR Answer Sheet and 
cover page of Question Booklet is to be handed over to the invigilator. 
Carbon copy of the Answer-Sheet and Question Booklet may be taken 
away by the examinee.

	10.	 This Question Paper consists of Parts namely :-
		  Paper I – Common Question for All – 150 Marks
			   Q. No.
		  Part – (1)	 (1)	 General Studies	 –	 1 – 40
		  	 (2)	 General Knowledge of State	
		  Part – (2)	 General Knowledge of Computer	 –	 41 – 70
		  Part – (3)	 General Mental Aptitude	 –	 71 – 90
		  Part – (4)	 General Mathematics	 –	 91 – 110
		  Part – (5)	 General Hindi	 –	 111 – 130 

Part – (6)	 General English	 –	 131 – 150
		  Paper II –			   50 Marks
		  (A) Stenography (Hindi) OR (B) Stenography (English) 
		  Paper I is compulsory and the Candidate are directed to choose 

only one subject from Paper II (A) and (B).
	11.	 In case of any ambiguity in English version the Hindi version shall 

be considered authentic.
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	 1.	 In which circumstances the council 
of ministers has not to resigned from 
office ?

		  If Lok Sabha	
	 i.	 Passed No-confidence motion
	 ii.	 Doesn’t pass money bill
	 iii.	 Doesn’t pass impeachment 

resolution
	 iv.	 Doesn’t pass Government bill
	 v.	 Doesn’t pass amendment bill

	 (A)	 i, iii 

	 (B)	 iii, v

	 (C)	 ii, iv

	 (D)	 ii, v

	 2.	 What amount is given to farmers under 
“Prime Minister Kisan Nidhi Samman 
Scheme” in a year ?

	 (A)	 Rs. 10,000

	 (B)	 Rs. 8,000

	 (C)	 Rs. 6,000

	 (D)	 Rs. 5,000

	 3.	 Kisan’s income will be double up to the 
year	

	 (A)	 2021 – 22 	 (B)	 2024 – 25

	 (C)	 2026 – 27	 (D)	 2029 – 30

	 1.	 {H$Z n[apñW{V`m| _| _pÝÌn[afX² H$mo nXË`mJ H$aZm 
Zht n‹S>Vm h¡ ?

		  `{X bmoH$g^m

	 i.	 A{dídmg àñVmd nm[aV H$a Xo

	 ii.	 YZ {dYo`H$ nm[aV Z H$ao

	 iii.	 _hm{^`moJ àñVmd nm[aV Z H$ao

	 iv.	 gaH$mar {dYo`H$ nm[aV Z H$ao

	 v.	 g§emoYZ {dYo`H$ nm[aV Z H$ao 

	 (A)	 i, iii 

	 (B)	 iii, v
	 (C)	 ii, iv

	 (D)	 ii, v

	 2.	 “àYmZ_§Ìr {H$gmZ {Z{Y gå_mZ `moOZm” Ho$ 
AÝVJ©V 01 gmb _| {H$gmZm| H$mo {H$VZr am{e 
Xr OmVr h¡ ?

	 (A)	 Rs. 10,000

	 (B)	 Rs. 8,000

	 (C)	 Rs. 6,000

	 (D)	 Rs. 5,000

	 3.	 {H$gmZm| H$s Am` XþJwUr hmo Om`oJr df© 
________ VH$ &

	 (A)	 2021 – 22 	 (B)	 2024 – 25

	 (C)	 2026 – 27	 (D)	 2029 – 30

Part – 1
   ^mJ – 1	 (1)	 General studies

	 (2)	ge neral knowledge of statee
	 (1)	 gm_mÝ` AÜ``Z
	 (2)	 amÁ` H$m gm_mÝ` kmZ
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	 4.	 Which is the essential characteristics 
of Direct Tax ?	

	 a.	 Impact of Tax

	 b.	 Incidence of Tax

	 c.	 Shifting of Tax

	 d.	 All the above

	 (A)	 a and b	 (B)	 a, b and c

	 (C)	 d	 (D)	 b and c

	 5.	 The following is not the special primitive 
tribe of this state 

	 (A)	 Agariya

	 (B)	 Birhor	  

	 (C)	 Kamar

	 (D)	 Baiga	

	 6.	 The Bhujia, a  special backward tribe 
recognized by this state mainly resides 
in the following district

	 (A)	 Kondagaon	 (B)	 Surajpur	  

	 (C)	 Gariyaband	 (D)	 Raigarh	

	 7.	 What is the rank of the state in India 
under forest coverage ?

	 (A)	 First	 (B)	 Second	  

	 (C)	 Third	 (D)	 Fourth	

	 4.	 àË`j H$a H$s Amdí`H$ {deofVmE§ Š`m h¡ ?

	 a.	 H$amnmV

	 b.	 H$amKmV

	 c.	 H$a {ddV©Z

	 d.	 Cn`w©ŠV g^r

	 (A)	 a Am¡a b	 (B)	 a, b Am¡a c

	 (C)	 d	 (D)	 b Am¡a c

	 5.	 {ZåZ{b{IV Bg> amÁ` H$s {deof {nN>‹S>r OZOm{V 
Zht h¡

	 (A)	 AJ[a`m 

	 (B)	 {~ahmoa

	 (C)	 H$_ma

	 (D)	 ~¡Jm

	 6.	 Bg> amÁ` Ûmam _mÝ`Vm àmßV {deof {nN>‹S>r 
OZOm{V _w»` ê$n go {ZåZ{b{IV {Obo _| 
{Zdmg H$aVr h¡

	 (A)	 H$m|S>mJm§d	 (B)	 gwaOnwa

	 (C)	 J[a`m~§X	 (D)	 am`J‹T>

	 7.	 dZ-AmdaU Ho$ AÝVJ©V> amÁ` H$m ^maV _| Š`m 
H«$_ h¡ ?

	 (A)	 àW_	 (B)	 {ÛVr`

	 (C)	 V¥Vr`	 (D)	 MVwW©
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	 8.	 In which place “first Chhattisgarh state 
Forest Development Corporation” is 
established ?

	 (A)	 Kawardha-Kabirdham	 
	 (B)	 Jagadalpur-Bastar	  
	 (C)	 Raipur	  
	 (D)	 Surguja-Ambikapur	

	 9.	 Which of the following is not true about 
“Parshuram Kund” ?

	 (A)	 It is in Brahmaputra Plateau

	 (B)	 It is on lohit river in Arunachal 
Pradesh

	 (C)	 It is under the Prashant Scheme 
under the Ministry of Tourism

	 (D)	 None of the above

	 10.	 Vikram is which part of the Chandra 
Yaan – 2 ?

	 (A)	 Orbiter	 (B)	 Lander
	 (C)	 Rover	 (D)	 Launcherer

	 11.	 Arrange the following events 
chronologically.

	 1.	 Dynamite case of Raipur jail. 

	 2.	 Gandhiji’s second visit to this 
state.	  

	 3.	 Jungle Satyagraha at 
Mahasamund (Tamora).	  

	 4.	 Kandel canal Satyagraha.	
	 (A)	 1, 2, 3, 4	 (B)	 2, 3, 4, 1
	 (C)	 3, 4, 1, 2	 (D)	 4, 3, 2, 1

	 8.	 ‘‘àW_ N>ÎmrgJ‹T> amÁ` dZ {dH$mg {ZJ_’’ {H$g 
ñWmZ na ñWm{nV {H$`m J`m ?

	 (A)	 H$dYm©-H$~raYm_
	 (B)	 OJXbnwa-~ñVa
	 (C)	 am`nwa

	 (D)	 gaJwOm-Apå~H$mnwa

	 9.	 {ZåZ{b{IV _| go H$m¡Z-gm “naewam_ Hw§$S”> Ho$ 
~mao _| gË` Zht h¡ ?

	 (A)	 `h ~«÷nwÌ nR>ma _| h¡

	 (B)	 `h AéUmMb àXoe _| bmo{hV ZXr na h¡

	 (C)	 `h n`©Q>Z _§Ìmb` Ho$ A§VJ©V àem§V 
`moOZm Ho$ A§VJ©V h¡

	 (D)	 CŠV _| go H$moB© Zht

	 10.	 {dH«$_, MÝÐ`mZ – 2 H$m H$m¡Z-gm ^mJ h¡ ?

	 (A)	 Am{~©Q>a 	 (B)	 b¢S>a

	 (C)	 amoda	 (D)	 bm§Ma

	 11.	 {ZåZ{b{IV KQ>ZmAm| H$mo H$mbH«$_mZwgma 
ì`dpñWV H$s{OE&

	 1.	 am`nwa Oob _| S>m`Zm_mB©Q> H$m§S> &

	 2.	 Jm§YrOr H$s Bg> amÁ` H$mo Xÿgar |̂Q &>

	 3.	 _hmg_w§X (V_moam) H$m O§Jb gË`mJ«h &

	 4.	 H$ÊS>ob Zha gË`mJ«h &
	 (A)	 1, 2, 3, 4	 (B)	 2, 3, 4, 1
	 (C)	 3, 4, 1, 2	 (D)	 4, 3, 2, 1
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	 12.	 Which of the following statement is 
true ?

	 (A)	 Many lawyers left their practice during 
non-co-operation movement.

	 (B)	 During Quit India Movement 
Indian tricolour was hoisted by 
Kranti Kumar Bharatiya at the 
Govt. High School at Bilaspur.

	 (C)	 Makhan lal chaturvedi was 
lodged in Bilaspur jail during the  
civil disobedience movement. 

	 (D)	 During the freedom movement the 
individual Satyagraha was not done.

	 13.	 Who of the following was the founder 
of Gupta dynasty in ancient India ?

	 (A)	 Shrigupta

	 (B)	 Ghatotkach Gupta

	 (C)	 Chandragupta

	 (D)	 Ramgupta

	 14.	 Which of the following Sultan of Delhi 
Sultanate implemented the price-control 
system in markets ?

	 (A)	 Ghayasuddin Balban

	 (B)	 Ghayasuddin Tughlaq

	 (C)	 Alauddin Tughlaq

	 (D)	 Bahlol Lodhi

	 12.	 {ZåZ{b{IV _| go H$m¡Z-gm H$WZ gË` h¡ ?

	 (A)	 Agh`moJ Am§XmobZ _| AZoH$ dH$sbm| Zo 
AnZm H$m`© Ë`mJ {X`m& 

	 (B)	 ^maV N>mo‹S>>mo Am§XmobZ Ho$ Xm¡amZ H«$m§{V Hw$_ma 
^maVr` Ûmam {~bmgnwa _| emgH$s` hmB©ñHy$b 
_| ^maVr` {Va§Jm \$ham`m J`m&

	 (C)	 g{dZ` Adkm Am§XmobZ Ho$ Xm¡amZ  
_mIZ bmb MVwd}Xr H$mo {~bmgnwa Oob _| 
~§Xr ~Zm`m J`m&

	 (D)	 ñdmYrZVm Am§XmobZ Ho$ Xm¡amZ Bg amÁ` _| 
ì`pŠVJV gË`mJ«h Zht hþAm&

	 13.	 àmMrZ ̂ maV JwßV d§e H$m g§ñWmnH$ {ZåZ{b{IV 
_| go H$m¡Z Wm ?

	 (A)	 lrJwßV

	 (B)	 KQ>moËH$M JwßV

	 (C)	 MÝÐJwßV

	 (D)	 am_JwßV

	 14.	 {ZåZ{b{IV _| {H$g {Xëbr gbVZV Ho$ gwbVmZ 
Zo ~mOmam| _| _yë` {Z §̀ÌU ì`dñWm bmJy H$s Wr ?

	 (A)	 J`mgwÔrZ ~b~Z

	 (B)	 J`mgwÔrZ VwJbH$

	 (C)	 AbmD$ÔrZ VwJbH$

	 (D)	 ~hbmob bmoXr
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	 15.	 Which of the following movement was 
launched by Mahatma Gandhi after the 
historic Dandi March ?	

	 (A)	 Non Co-operation Movement

	 (B)	 Civil Disobedience Movement

	 (C)	 Individual Satyagraha

	 (D)	 Quit India Movement

	 16.	 Indira Point is located	
	 (A)	 Near Kanyakumari
	 (B)	 At Lakshadweep
	 (C)	 At South of Nikobar
	 (D)	 At Kashmir

	 17.	 What percentage is increased in MSP 
of paddy for Kharif 2021 year ?

	 (A)	 4.1%	 (B)	 4.3%	  
	 (C)	 5%	 (D)	 2.92%	

	 18.	 What is not correct about the president 
in council of Nagar Panchayat ?

	 i.	 It consist of President and five 
members	  

	 ii.	 The members are elected by the 
Nagar Panchayat	 

	 iii.	 The tenure of members is one year

	 iv.	 The members are ex-officio 
members of advisory committee 
of Nagar Panchayat	  

	 (A)	 i	 ii	 iii 
	 (B)	 ii	 iii	 iv	  
	 (C)	 iii	 iv	 i	  
	 (D)	 iv	 i	 ii

	 15.	 Eo{Vhm{gH$ Xm§S>r `mÌm Ho$ níMmV² _hmË_m Jm§Yr 
Zo {ZåZ{b{IV _| go H$m¡Z-gm Am§XmobZ àma§^ 
{H$`m ?

	 (A)	 Agh`moJ Am§XmobZ
	 (B)	 g{dZ` Adkm Am§XmobZ
	 (C)	 ì`pŠVJV gË`mJ«h

	 (D)	 ^maV N>mo‹S>mo Am§XmobZ

	 16.	 B§{Xam nmB§Q> pñWV h¡

	 (A)	 H$Ý`mHw$_mar Ho$ nmg
	 (B)	 bjÛrn _|

	 (C)	 {ZH$mo~ma Ho$ X{jU _|
	 (D)	 H$mí_ra _|

	 17.	 YmZ Ho$ g_W©Z _yë` na Iar\$ df© 2021 Ho$ {bE 
{H$VZo à{VeV H$s d¥{Õ H$s J`r h¡ ?

	 (A)	 4.1 à{VeV 	 (B)	 4.3 à{VeV

	 (C)	 5 à{VeV	 (D)	 2.92 à{VeV

	 18.	 ZJa n§Mm`V Ho$ gn[afX²-AÜ`j Ho$ {df` _| Š`m 
ghr Zht h¡ ?

	 i.	 Bg_| AÜ`j Am¡a nm§M gXñ` hmoVo h¢	 

	 ii.	 gXñ`, ZJa n§Mm`V Ho$ Ûmam MwZo OmVo h¢  

	 iii.	 gXñ`m| H$m H$m`©H$mb EH$ df© hmoVm h¢

	 iv.	 gXñ`, ZJa n§Mm`V H$s nam_e©XmÌr g{_{V 
Ho$ nXoZ gXñ` hmoVo h¢	  

	 (A)	 i	 ii	 iii 
	 (B)	 ii	 iii	 iv	  
	 (C)	 iii	 iv	 i	  
	 (D)	 iv	 i	 ii
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	 19.	 What is Quorum of Legislative 
Assembly of this state ?

	 (A)	 46

	 (B)	 30	  

	 (C)	 10

	 (D)	 9	

	 20.	 Mata Kaushalya Temple is in

	 (A)	 Sihawa

	 (B)	 Chand Khuri

	 (C)	 Rajim

	 (D)	 Turturiya

	 21.	 Match the following fair with their 
month.

	 a.	 Champaran fair	 i.	 Baisakh

	 b.	 Sirpur fair	 ii.	 Bhadrpad

	 c.	 Mahashivratri fair	 iii.	 Magh

	 d.	 Janmashtami fair	 iv.	F algun
		  Raigarh	  

	 a	 b	 c	 d

	 (A)	 i	 ii	 iii	 iv 

	 (B)	 iii	 i	 iv	 ii

	 (C)	 iii	 ii	 iv	 i	  

	 (D)	 ii	 i	 iii	 iv

	 19.	 Bg amÁ` H$s {dYmZg^m H$s JUny{V© {H$VZr h¡ ?

	 (A)	 46

	 (B)	 30	  

	 (C)	 10

	 (D)	 9	

	 20.	 _mVm H$m¡eë`m _§{Xa ________ _| h¡ &

	 (A)	 {ghmdm

	 (B)	 Mm§X Iwar

	 (C)	 am{O_

	 (D)	 VwaVw[a`m

	 21.	 {ZåZ{b{IV _obm| H$mo CgHo$ _mh go gw_o{bV 
H$s{O`o&

	 a.	 MånmaU _obm	 i.	~¡emI

	 b.	 {ganwa _obm	 ii.	^mÐnX

	 c.	 _hm{edamÌr _obm	 iii.	_mK

	 d.	 OÝ_mñQ>_r _obm am`J‹T>	 iv.	\$ëJwZ 

	 a	 b	 c	 d

	 (A)	 i	 ii	 iii	 iv 

	 (B)	 iii	 i	 iv	 ii

	 (C)	 iii	 ii	 iv	 i	  

	 (D)	 ii	 i	 iii	 iv
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	 22.	 Following is the sequence of 
marriage ceremony songs of this 
state

	 i.	 Tikawan
	 ii.	 Bhanwar
	 iii.	 Bhadauni
	 iv.	 Parghawni	  

	 (A)	 iv	 ii	 iii	 i 
	 (B)	 i	 ii	 iii	 iv
	 (C)	 iv	 iii	 i	 ii	  
	 (D)	 iv	 i	 ii	 iii

	 23.	 Give the order of leg to head of the 
traditional ornaments of this state

	 i.	 Kakani
	 ii.	 Tonda
	 iii.	 Surra
	 iv.	 Patia	  

	 (A)	 ii	 i	 iii	 iv 
	 (B)	 iv	 ii	 i	 iii
	 (C)	 i	 ii	 iii	 iv	  
	 (D)	 iii	 iv	 ii	 i

	 24.	 Lord Rama’s entry into this state during 
the exile period is believed to be from 
which of the following place ?

	 (A)	 Harchowka

	 (B)	 Shivarinarayan
	 (C)	 Sitabongara

	 (D)	 Sitalekhani

	 22.	 Bg> amÁ` Ho$ {ddmh g§ñH$ma JrVm| H$m H«$_ 
{ZåZ{b{IV h¡

	 i.	 {Q>H$mdZ

	 ii.	 ^m§da

	 iii.	 ^‹S>m¡Zr
	 iv.	 naKm¡Zr	  

	 (A)	 iv	 ii	 iii	 i 
	 (B)	 i	 ii	 iii	 iv
	 (C)	 iv	 iii	 i	 ii	  
	 (D)	 iv	 i	 ii	 iii

	 23.	 Bg> amÁ` H$s naånamJV JmhZm| H$mo nm§d go {ga 
Ho$ H«$_ go ~VbmB`o

	 i.	 H$H$Zr

	 ii.	 Q>m|‹S>m
	 iii.	 gyam©
	 iv.	 n{Q>`m	  

	 (A)	 ii	 i	 iii	 iv 
	 (B)	 iv	 ii	 i	 iii
	 (C)	 i	 ii	 iii	 iv	  
	 (D)	 iii	 iv	 ii	 i

	 24.	 dZdmg H$mb _| ^JdmZ am_ H$m Bg amÁ` _| 
{ZåZ{b{IV ñWmZ go àdoe _mZm OmVm h¡&

	 (A)	 haMm¡H$m

	 (B)	 {edarZmam`U

	 (C)	 grVm~m|Jam
	 (D)	 grVmboIZr
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	 25.	 Who of the following was the propounder 
of the Vishishtadwaita philosophy ?

	 (A)	 Shankaracharya

	 (B)	 Nimbarkacharya 

	 (C)	 Vallabhacharya

	 (D)	 Ramanujacharya

	 26.	 Who of the following was the author of 
‘Rajtarangini’ ?	

	 (A)	 Kalhana 

	 (B)	 Khemchandra

	 (C)	 Banabhatta	

	 (D)	 Bhartruhari

	 27.	 Which of the following cultural 
organization was founded by  
Raja Ram Mohan Roy ?

	 (A)	 Arya Samaj

	 (B)	 Dev Samaj

	 (C)	 Brahmo Samaj

	 (D)	 Prarthana Samaj

	 28.	 In 2019, where G-20 Summit was 
organized ?

	 (A)	 France

	 (B)	 Japan

	 (C)	 America

	 (D)	 Indonesia

	 25.	 {ZåZ{b{IV _| go H$m¡Z {d{eîQm>Û¡V Xe©Z Ho$  
àdV©H$ Wo ?

	 (A)	 e§H$amMm`© 

	 (B)	 {Zå~mH$m©Mm`©

	 (C)	 dëb^mMm`©

	 (D)	 am_mZwOmMm`©

	 26.	 ‘amOVa§{JUr’ H$m boIH$ {ZåZ{b{IV _| go H$m¡Z 
Wm ?

	 (A)	 H$ëhU 

	 (B)	 Io_MÝÐ

	 (C)	 ~mU^Å>

	 (D)	 ^V¥©h[a

	 27.	 amOm am_ _mohZ am` Zo {ZåZ{b{IV _| go {H$g 
gm§ñH¥${VH$ g§JR>Z H$s ñWmnZm H$s ?

	 (A)	 Am`© g_mO 

	 (B)	 Xod g_mO

	 (C)	 ~«÷ g_mO

	 (D)	 àmW©Zm g_mO

	 28.	 Or-20 {eIa gå_obZ H$m 2019 _| Am`moOZ 
H$hm± {H$`m J`m ?

	 (A)	 \«$mÝg

	 (B)	 OmnmZ

	 (C)	 A_o[aH$m

	 (D)	 B§S>moZo{e`m
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	 29.	 In India Anthracite coal is found in

	 (A)	 Jammu Kashmir
	 (B)	 Rajasthan
	 (C)	 Gondwana Era Rocks
	 (D)	 Tamil Nadu

	 30.	 The subject of dispute between India 
and Bangladesh

	 (A)	 Gangasagar Island
	 (B)	 New Muray Island
	 (C)	 Landfole Island
	 (D)	 Coco water way

	 31.	 What is correct about the State 
Legislative Council ?	

	 i.	 All the elected members are 
elected by single transferable 
voting system of proportional 
representation system

	 ii.	 The members elected by State 
Legislative Assembly are elected 
by highest vote system

	 iii.	 The representatives of students are 
elected by college students only

	 iv.	 The members representing the 
teachers are elected by simple 
election method

	 (A)	 i

	 (B)	 i, ii

	 (C)	 i, ii, iii

	 (D)	 i, ii, iii, iv

	 29.	 ^maV _| EoÝW«ogmBQ> H$mo`bm àmßV hmoVm h¡

	 (A)	 Oå_y H$mí_ra go 
	 (B)	 amOñWmZ go
	 (C)	 Jm|S>dmZm`wJrZ MÅ>mZm| go 
	 (D)	 V{_bZmSy> go

	 30.	 ^maV d ~m§½bmXoe Ho$ _Ü` {ddmX H$m {df` h¡

	 (A)	 J§JmgmJa Ûrn

	 (B)	 Ý`y _wao Ûrn
	 (C)	 b¡ÊS>\$mob Ûrn
	 (D)	 H$moH$mo Ob _mJ©

	 31.	 amÁ` {dYmZn[afX² Ho$ {df` _| ghr Š`m h¡ ?

	 i.	 g_ñV {Zdm©{MV gXñ` AZwnm{VH$ à{V{Z{YËd 
àUmbr Ho$ EH$b g§H«$_Ur` _V nÕ{V go MwZo 
OmVo h¢

	 ii.	 amÁ` {dYmZ g^m Ûmam MwZo OmZo dmbo gXñ` 
gdm©{YH$ _V nÕ{V go MwZo OmVo h¢

	 iii.	 N>mÌm| Ho$ à{V{Z{Y Ho$db _hm{dÚmb`rZ 
N>mÌm| Ûmam MwZo OmVo h¢ 

	 iv.	 {ejH$m| H$m à{V{Z{YËd H$aZo dmbo gXñ` 
gmYmaU {Zdm©MZ nÕ{V go MwZo OmVo h¢

	 (A)	 i

	 (B)	 i, ii

	 (C)	 i, ii, iii

	 (D)	 i, ii, iii, iv
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	 32.	 To whom Governor appoints but cann’t 
remove from his office ? 	

	 (A)	 Chief Minister
	 (B)	 Attorney General
	 (C)	 Advocate General
	 (D)	 Chairman of Public Service 

Commission

	 33.	 Which of the following was mainly 
responsible for the merging of Indian 
states of this state in Indian Union ?

	 (A)	 The merger was the responsibility 
of the Bastar state

	 (B)	 The merger was done due to the 
composition of Eastern states union

	 (C)	 The merger was done due to the 
council of action in Chhattisgarh 
states

	 (D)	 The merger was done due to the 
strong policy of Sardar Patel

	 34.	 How many cement industries are there 
in Baloda Bazar district ?

	 (A)	  4	 (B)	 5
	 (C)	  6	 (D)	 7

	 35.	 In which tehsil is the Sikasar 
hydroelectricity plant located ?

	 (A)	 Mainpur	 (B)	 Devbhog

	 (C)	 Gariyaband	 (D)	 Chhura

	 32.	 amÁ`nmb {H$go {Z ẁŠV H$aVm h¡ {H$ÝVw Cgo nXÀ ẁV 
Zht H$a gH$Vm ?

	 (A)	 _w»`_§Ìr

	 (B)	 _hmÝ`m`dmXr
	 (C)	 _hm{YdŠVm

	 (D)	 bmoH$ godm Am`moJ H$m AÜ`j

	 33.	 {ZåZ{b{IV _| go H$m¡Z-gr KQ>Zm Zo Bg amÁ` 
H$s [a`mgVm| H$mo ^maVr` g§K _| {db` H$s à_wI 
{Oå_oXmar {Z^mB© ?

	 (A)	 [a`mgVm| H$m {db` ~ñVa amÁ` H$s {Oå_oXmar 
Wr

	 (B)	 [a`mgVm| H$m {db` ‘BñQ>Z© ñQ>oQ>²g ̀ y{Z`Z’ Ho$ 
gh`moJ go gånÞ hþAm

	 (C)	 [a`mgVm§o Ho$ {db` _o§ H$m§¡{gb Am°\$ EŠeZ 
BZ N>ÎmrgJ‹T> ñQ>oQ²>g H$s ^y{_H$m Wr

	 (D)	 [a`mgVm§o H$m {db` gaXma nQ>ob H$s Ñ‹T>> 
Zr{V H$m n[aUm_ Wm

	 34.	 ~bm¡Xm ~mOma {Obo _| {H$VZo {g_oÝQ>> CÚmoJ h¢ ?

	 (A)	  4	 (B)	 5
	 (C)	  6	 (D)	 7

	 35.	 {gH$mgma Ob {dÚwV J¥h {H$g Vhgrb _| pñWV h¢ ?

	 (A)	 _¡Znwa	 (B)	 Xod^moJ

	 (C)	 J[a`m~ÝX	 (D)	 Ny>am
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	 36.	 Mahanadi drainage system collects 
water of about how much percentage 
area of Chhattisgarh state ?

	 (A)	 48
	 (B)	 53
	 (C)	 58
	 (D)	 63

	 37.	 Which is not included in Secondary 
Sector of the Economy in India ?

	 (A)	 Manufacturing Sector

	 (B)	 Construction Sector

	 (C)	 Electricity, gas and Water supply

	 (D)	 Mining and Quarry

	 38.	 Consider following statements. 

	 I.	 Liquid sodium is used as a coolant 
in nuclear reactor.

	 II.	 The formula of plaster of Paris is 
2CaSO4, H2O.

	 III.	 Bordeaux mixture consists of 
sodium sulphate and lime.

	 IV.	 Zirconium is a radioactive metal.

	 V.	 Rice fields are source of marsh 
gas. 

		  Correct statements are :

	 (A)	 I, II and III	 (B)	 II, III and IV

	 (C)	 I, II and V	 (D)	 III, IV and V

	 36.	 _hmZXr Andmh V§Ì N>ÎmrgJ‹T> amÁ` Ho$ bJ^J 
{H$VZo à{VeV joÌ H$m Ob g§J«hU H$aVm h¡ ?

	 (A)	 48

	 (B)	 53
	 (C)	 58
	 (D)	 63

	 37.	 ^maV H$s AW©ì`dñWm Ho$ {ÛVr`H$ joÌ _| {H$go 
em{_b Zht {H$`m OmVm h¡ ?

	 (A)	 {d{Z_m©U joÌ

	 (B)	 {Z_m©U joÌ

	 (C)	 {dÚwV, J¡g Ed§ Ob Amny{V©

	 (D)	 IZZ Ed§ CËIZZ

	 38.	 {ZåZ H$WZm| na {dMma H$s{O`o &

	 I.	 Ðd gmo{S>`_ H$m Cn`moJ Zm{^H$s` [a`oŠQ>a 
_| erVbH$ Ho$ ê$n _| Cn`moJ hmoVm h¡&

	 II.	 ßbmñQ>a Am\$ no[ag H$m gyÌ 2CaSO4, 
H2O h¡&

	 III.	 ~moaS>oŠg {_lU _| gmo{S>`_ gë\o$Q> VWm 
MyZm hmoVm h¡&

	 IV.	 OaH$mo{Z`_ EH$ ao{S>`moY_u YmVw h¡&

	 V.	 YmZ Ho$ IoV _me© J¡g Ho$ òmoV h¢&

		  ghr H$WZ h¢ :

	 (A)	 I, II Ed§ III	 (B)	 II, III Ed§ IV

	 (C)	 I, II Ed§ V	 (D)	 III, IV Ed§ V
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	 39.	 Match List I with List II and select correct 
answer using following codes.

		L  ist I		L  ist II

	 a.	 Cusec	 1.	 Intensity of 	
		  earthquakes

	 b.	 Byte	 2.	 Viscosity

	 c.	 Richter	 3.	 Computer 		
		  memory

	 d.	 Bar	 4.	 Pressure

	 e.	 Pascal-sec.	 5.	 Rate of flow

	 	 a	 b	 c	 d	 e

	 (A)	 1 – 3 – 2 – 4 – 5

	 (B)	 5 – 4 – 3 – 1 – 2

	 (C)	 3 – 2 – 1 – 4 – 5

	 (D)	 5 – 3 – 1 – 4 – 2

	 40.	 Which one of the following gas is also 
called stranger gas ?

	 (A)	  Argon

	 (B)	  Helium

	 (C)	  Neon

	 (D)	 Xenon

	 39.	 gyMr I H$mo gyMr II go gw_o{bV H$a {ZåZ H$moS> H$s 
ghm`Vm go ghr CÎma M`{ZV H$s{O`o&

		  gyMr I		  gyMr II

	 a.	 Š`ygoH$	 1.	 ^yH$ån H$s Vrd«Vm

	 b.	 ~mB©Q>	 2.	 í`mZVm

	 c.	 a¡ŠQ>a	 3.	 H$åß`yQ>a _o_moar

	 d.	 ~ma	 4.	 Xm~

	 e.	 nmñH$b-g¡Ho$ÊS>	 5.	 àdmh H$s Xa

	 	 a	 b	 c	 d	 e

	 (A)	 1 – 3 – 2 – 4 – 5

	 (B)	 5 – 4 – 3 – 1 – 2

	 (C)	 3 – 2 – 1 – 4 – 5

	 (D)	 5 – 3 – 1 – 4 – 2

	 40.	 {ZåZ J¡gm| _| go H$m¡Z EH$ J¡g AOZ~r J¡g h¡ ?

	 (A)	 AmJ©Z 

	 (B)	 hr{b`_

	 (C)	 {ZAmoZ

	 (D)	 OoZm°Z
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	 41.	 Which of the following do not have start 
button ?

	 (A)	 Windows Vista
	 (B)	 Windows 7
	 (C)	 Windows 8
	 (D)	 Windows XP

	 42.	 If the displayed system time and date 
is wrong, you can reset it using

	 (A)	 Write	 (B)	 Calendar
	 (C)	 File	 (D)	 Control Panel

	 43.	 Which of the following does not support 
more than one program at a time ?

	 (A)	 DOS	 (B)	 LINUX
	 (C)	 WINDOWS	 (D)	 UNIX

	 44.	 What is “Trend Micro” ?

	 (A)	 It is anti-virus 

	 (B)	 It is just a program 

	 (C)	 It is virus

	 (D)	 It is a data analysis tool

	 45.	 Viruses which executes when computer 
starts is 

	 (A)	 macro 	 (B)	 salami sharing 

	 (C)	 file infector	 (D)	 boot sector

	 41.	 {ZåZ _| go {H$g_o§ ñQ>mQ>© ~Q>Z Zht hmoVm h¡ ?

	 (A)	 Windows Vista
	 (B)	 Windows 7
	 (C)	 Windows 8
	 (D)	 Windows XP

	 42.	 `{X {XIZo dmbm {gñQ>_ S>oQ> Am¡a Q>mB_ JbV h¡ 
Vmo, Amn Bgo argoQ> H$aZo Ho$ {bE {H$gH$m Cn`moJ 
H$amoJo ? 

	 (A)	 amB©Q>	 (B)	 H¡${bÝS>a

	 (C)	 \$mBb	 (D)	 H§$Q´>mob n¡Zb

	 43.	 {ZåZ _| go H$m¡Z EH$ go A{YH$ àmoJ«m_ H$mo EH$ 
hr g_` _| gnmoQ>© Zht H$aVm h¡ ?

	 (A)	 DOS	 (B)	 LINUX
	 (C)	 WINDOWS	 (D)	 UNIX

	 44.	 “Q´>oÝS> _mBH«$mo” Š`m h¡ ?

	 (A)	 `h EH$ E§Q>r-dm`ag h¡ 

	 (B)	 `h {g\©$ EH$ àmoJ«m_ h¡

	 (C)	 `h EH$ dm`ag h¡

	 (D)	 `h EH$ S>oQ>m EZm{b{gg Qy>b h¡

	 45.	 dm`ag Omo H$åß ỳQ>a ewê$ hmoZo na {Zînm{XV hmoVm h¡

	 (A)	 _°H«$mo 	 (B)	 gbm_r eoatJ

	 (C)	 \$mBb BZ\o$ŠQ>a	 (D)	 ~yQ> goŠQ>a

Part – 2
   ^mJ  – 2

General Knowledge of Computer H$åß`yQ>a H$m gm_mÝ` OmZH$mar
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	 46.	 The process to obtain confidential 
information from a computer user by 
falsifying their identity is known as 

	 (A)	 Spoofing 	 (B)	 Phising 

	 (C)	 Spamming 	 (D)	 Bugging

	 47.	 Any computer regardless of its type is 
controlled by,

	 (A)	U ser

	 (B)	 Programmed Instructions

	 (C)	 Booting

	 (D)	 Hardware

	 48.	 A lesser known computer is

	 (A)	 Super computer	 

	 (B)	 Digital computer

	 (C)	 Analog computer

	 (D)	 Micro computer

	 49.	 Eniac was the first general purpose 
electronic computer. ENIAC stands for 

	 (A)	 Electronic Network Interactive 
Analytic Computer	  

	 (B)	 Electronic Numerical Integrator 
and Computer

	 (C)	 Electronic Network Integrated 
Analytical Computer

	 (D)	 Electronic Numerical Integrated 
Automatic Computer

	 46.	 H$åß`yQ>a Cn`moJH$Vm© go AnZr nhMmZ JbV 
~VmH$a JmonZr` gyMZm àmßV H$aZo H$s à{H«$`m 
H$mo H$hVo h¢

	 (A)	 ñnyq\$J 	 (B)	 {\$qeJ

	 (C)	 ñn¡q_J	 (D)	 ~qJJ

	 47.	 {H$gr  ^r àH$ma H$m H$moB© ^r H$åß`yQ>a ______  
Ho$ Ûmam {Z`§{ÌV hmoVm h¡&

	 (A)	 `yµOa

	 (B)	 àmoJ«måS> B§ñQ´>ŠeÝg

	 (C)	 ~yqQ>J

	 (D)	 hmS>©do`a

	 48.	 g~go H$_ OmZZo _| Am`m H§$ß`yQ>a _____ h¡& 

	 (A)	 gyna H§$ß`yQ>a	  

	 (B)	 {S>{OQ>b H§$ß`yQ>a

	 (C)	 EZbm°J H§$ß`yQ>a

	 (D)	 _mBH«$mo H§$ß`yQ>a

	 49.	 Eniac  nhbm gm_mÝ` Cn`moJ dmbm BboŠQ́>m{ZH$ 
H§$ß`yQ>a h¡& ENIAC H$m nyam ê$n  

	 (A)	 Electronic Network Interactive 
Analytic Computer	  

	 (B)	 Electronic Numerical Integrator 
and Computer

	 (C)	 Electronic Network Integrated 
Analytical Computer

	 (D)	 Electronic Numerical Integrated 
Automatic Computer
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	 50.	 Which one of the following is not a 
product of Google ?

	 (A)	 Android	 (B)	 Chrome
	 (C)	 Glass OS	 (D)	 Bing

	 51.	 Youtube founded in the year
	 (A)	 2004 	 (B)	 2005
	 (C)	 2006 	 (D)	 2007

	 52.	 A Web search engine can search

	 (A)	 Texts 

	 (B)	 Images

	 (C)	 Videos

	 (D)	 All of the above

	 53.	 Which field of the e-mail allows the 
sender to conceal the person from the 
other recipients ?

	 (A)	 CC 	 (B)	 BCC 
	 (C)	 subject	 (D)	 body

	 54.	 Which one of the following is not a web 
browser ?

	 (A)	 Opera 	 (B)	 Chrome
	 (C)	 FreeBSD	 (D)	 Safari

	 55.	 Which one of the following is not a 
search engine ?

	 (A)	 Stack overflow 	(B)	Bing

	 (C)	 Google	 (D)	Yahoo

	 50.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ JyJb H$m àmoS>ŠQ> 
Zht h¡ ?

	 (A)	 E§S´>m°BS> 	 (B)	 H«$mo_
	 (C)	 ½bmg AmoEg	 (D)	 q~J

	 51.	 `yQ>çy~ H$s ñWmnZm {H$g df© _| hþB© Wr ?

	 (A)	 2004 	 (B)	 2005
	 (C)	 2006 	 (D)	 2007

	 52.	 EH$ do~ gM© B§{OZ gM© H$a gH$Vm h¡

	 (A)	 Q>oŠñQ²>g 

	 (B)	 B_oOog

	 (C)	 {d{S>`moO

	 (D)	 CnamoŠV g^r

	 53.	 B©-_ob H$m H$m¡Z-gm joÌ àofH$ H$mo AÝ` àmßVH$Vm©Am| 
go ì`pŠV H$mo {N>nmZo H$s AZw_{V XoVm h¡ ?

	 (A)	 CC 	 (B)	 BCC

	 (C)	 subject	 (D)	 body

	 54.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ do~ ~«mCOa Zht h¡ ?

	 (A)	 Amonoam 	 (B)	 H«$mo_
	 (C)	 FreeBSD	 (D)	 gm\$mar

	 55.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ gM© B§{OZ Zhr§ h¡ ?

	 (A)	 Stack overflow 	(B)	Bing

	 (C)	 Google	 (D)	Yahoo
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	 56.	 What is another name for a dot matrix 
printer ?

	 (A)	 Impact Printer

	 (B)	 Page Printer

	 (C)	 Spray Printer

	 (D)	 Non-impact Printer

	 57.	 Which among the following allows the 
user to interact computer ?

	 (A)	 Command-line Interface

	 (B)	 Graphical-user Interface

	 (C)	 Both option (A) and (B)

	 (D)	 None of the above

	 58.	 Why is serial port called serial ?

	 (A)	 The pin in a serial ports are all in 
one line

	 (B)	 The printer is addressed as a 
serial number 

	 (C)	 Data for the printer is sent serially, 
one bit at a time

	 (D)	 The serial ports are assigned 
serial numbers by IEEE

	 59.	 1 Tera byte is equal to

	 (A)	 106 KB 	 (B)	 1015KB

	 (C)	 109 KB	 (D)	 1012 KB

	 56.	 S>m°Q> _¡{Q´>Šg {àÝQ>a H$m Xÿgam Zm_ Š`m h¡ ? 

	 (A)	 Bån¡ŠQ> {àÝQ>a

	 (B)	 noO {àÝQ>a

	 (C)	 ñào {àÝQ>a

	 (D)	 Zm°Z- Bån¡ŠQ> {àÝQ>a

	 57.	 {ZåZ{b{IV _| go H$m¡Z ỳµOa H$mo H§$ß ỳQ>a go B§Q>aoŠQ> 
H$aVm h¡ ?

	 (A)	 H$_m§S>-bmB©Z BÝQ>a\o$g

	 (B)	 J«m{\$H$b-`yµOa BÝQ>a\o$g

	 (C)	 (A) Am¡a (B) XmoZm| {dH$ën

	 (D)	 CnamoŠV _| go H$moB© Zht

	 58.	 gr[a`b nmoQ>©  H$mo gr[a`b Š`m| H$hVo h¡§ ?

	 (A)	 gr[a`b nmoQ>©²g _| gmao {nZ EH$ bmB©Z _| hmoVo h¡§ 

	 (B)	 gr[a`b Z§~a Ho$ ê$n _| {àÝQ>a g§~mo{YV hmoVm h¡ 

	 (C)	 {àÝQ>a Ho$ {bE S>mQ>m gr[a`br EH$ {~Q> EH$ 
g_` na {X`m OmVm h¡

	 (D)	 IEEE Ho$ Ûmam gr[a`b nmoQ>©²g H$mo gr[a`b 
Zå~g© {X`m J`m h¡

	 59.	 1 Q>oam ~mBQ> ____ Ho$ ~am~a hmoVm h¡&

	 (A)	 106 KB 	 (B)	 1015KB

	 (C)	 109 KB	 (D)	 1012 KB
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	 60.	 Which one of the following have the 
largest storage capacity ?

	 (A)	 Blu-Ray 	 (B)	 DVD-RW 

	 (C)	 DVD-ROM 	 (D)	 DVD-RAM

	 61.	 The process by which a storage disk 
can be divided into some storage drive 
sector is called

	 (A)	 Tracking  	 (B)	 Formatting

	 (C)	 Alloting 	 (D)	 Partitioning

	 62.	 What is the shortcut key to create new 
files in Powerpoint-presentation ?

	 (A)	 Ctrl+S	 (B)	 Ctrl+N	  
	 (C)	 Ctrl+M	 (D)	 Ctrl +F

	 63.	 To spell check which function key you 
will press ?

	 (A)	F 5	 (B)	F 6

	 (C)	 F7	 (D)	 F8

	 64.	 What we call to a combination of row 
and column ?

	 (A)	 Line	 (B)	 Column 
	 (C)	 Row	 (D)	 Cell

	 65.	 VGA stands for 	

	 (A)	 Video Graphic Array	  

	 (B)	 Video Graphic Application

	 (C)	 Visual Graphic Array

	 (D)	 Visual Graphic Application

	 60.	 {ZåZ{b{IV _o§ go g~go Á`mXm ^§S>maU j_Vm 
{H$g_| h¡ ?

	 (A)	 Blu-Ray 	 (B)	 DVD-RW 

	 (C)	 DVD-ROM 	 (D)	 DVD-RAM

	 61.	 dh à{H«$`m {OgHo$ Ûmam ñQ>moaoO {S>ñH$ H$mo Hw$N> 
ñQ>moaoO S´>mBd goŠQ>a _| {d^m{OV {H$`m Om gH$Vm 
h¡, ____ H$hbmVm h¡&

	 (A)	 Q´>¡qH$J 	 (B)	 \$m°a_oqQ>J

	 (C)	 Abm°qQ>J	 (D)	 nm{Q>©eqZJ

	 62.	 nm°da-nmBÝQ>-{àµO°ÝQ>oeZ _| Z`m \$mB©b ~ZmZo H$m 
em°Q>©H$Q> H$s Š`m h¡ ?

	 (A)	 Ctrl+S	 (B)	 Ctrl+N	  
	 (C)	 Ctrl+M	 (D)	 Ctrl +F

	 63.	 ñnob MoH$ H$aZo Ho$ {bE Amn H$m¡Z gm \$§ŠeZ H$s 
X~mAmoJo ?

	 (A)	F 5	 (B)	F 6
	 (C)	 F7	 (D)	 F8

	 64.	 amo Am¡a H$m°b_ Ho$ {_lU H$mo Š`m H$hVo h§¡ ?

	 (A)	 bmB©Z	 (B)	 H$m°b_ 

	 (C)	 amo	 (D)	 gob

	 65.	 VGA H$m nyU© ê$n h¡

	 (A)	 Video Graphic Array	  

	 (B)	 Video Graphic Application

	 (C)	 Visual Graphic Array

	 (D)	 Visual Graphic Application
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	 66.	 A smaller version of an image is called

	 (A)	 Portable network graphic

	 (B)	 Clip art

	 (C)	 bitmap

	 (D)	 Thumbnail

	 67.	 If frames are displayed on screen fast 
enough. We get an impression of 

	 (A)	 Signals 	 (B)	 Motions 

	 (C)	 Packets	 (D)	 Bits

	 68.	 Which of the following retains the 
information its storing when the power 
to the system is turned off ? 

	 (A)	 CPU		  (B)	 RAM

	 (C)	 ROM		  (D)	 DIMM

	 69.	 USB is a device used to store data and 
it stands for

	 (A)	 Unlimited Service Band

	 (B)	U nlimited Serial Bus

	 (C)	 Universal Service Bus

	 (D)	 Universal Serial Bus

	 70.	 What is the name of programs that 
control the computer system ?

	 (A)	 Hardware	 (B)	 Software

	 (C)	 Keyboard	 (D)	 Mouse

	 66.	 EH$ B_oO H$m N>moQ>m g§ñH$aU H$hbmVm h¡

	 (A)	 nmoQ>}~b ZoQ>dH©$ J«m{\$H$ 

	 (B)	 Šbrn AmQ>©

	 (C)	 {~Q>_¡n

	 (D)	 Wå~Zob

	 67.	 `{X ‹>\«o$_ H$mo ñH«$sZ na VoOr go àX{e©V {H$`m 
OmVm h¡, Vmo h_| ____ Am^mg hmoVm h¡& 

	 (A)	 {g½Zb 	 (B)	 _moeZ

	 (C)	 n¡Ho$Q²>g	 (D)	 {~Q²>g

	 68.	 {ZåZ{b{IV _| go {H$gH$m ñQ>moa gyMZm,  {gñQ>_ 
~§X hmoZo ~mX ^r ~Mm ahVm h¡ ? 

	 (A)	 CPU		  (B)	 RAM

	 (C)	 ROM		  (D)	 DIMM

	 69.	U SB EH$ Eogm `§Ì h¡, Omo S>mQ>m ñQ>moa H$aZo Ho$ 
H$m_ AmVm h¡& Am¡a BgH$m nyam ê$n

	 (A)	 Unlimited Service Band

	 (B)	U nlimited Serial Bus

	 (C)	 Universal Service Bus

	 (D)	 Universal Serial Bus

	 70.	 Cg àmoJ«m_ H$m Zm_ Š`m h¡ Omo H§$ß`yQ>a {gñQ>_ 
H$mo {Z`§{ÌV H$aVm h¡ ?

	 (A)	 hmS>©do`a	 (B)	 gm°âQ>do`a

	 (C)	 H$s~moS>©	 (D)	 _mD$g
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	 71.	 Which of the following diagram 
represents correct relationship between 
boys, girls and students ?	

	 (A)	 	

	 (B)	  

	 (C)	  

	 (D)	

	 72.	 In a certain code, if ‘POND’ is coded 
as ‘18192012’, what should be code 
for ‘LION’ ?

	 (A)	 13142021	

	 (B)	 14132122 

	 (C)	 14152021	

	 (D)	 14152122

	 71.	 {ZåZ{b{IV _| go H$m¡Z-gm {MÌ b‹S>Ho$, b‹S>{H$`m| 
Am¡a N>mÌm| Ho$ _Ü` ghr g§~§Y H$mo Xem©Vm h¡ ?

	 (A)	 	

	 (B)	  

	 (C)	

	 (D)	

	 72.	 `{X {H$gr gm§Ho${VH$ ^mfm _|| ‘POND’ H$m H$moS> 
‘18192012’ h¡, Vmo Cgr H$moS> _| ‘LION’  
Ho$ {bE Š`m H$moS> hmoZm Mm{hE ?

	 (A)	 13142021	

	 (B)	 14132122 

	 (C)	 14152021	

	 (D)	 14152122

Part – 3
   ^mJ – 3

General Mental Aptitude gm_mÝ` _mZ{gH$ `mo½`Vm
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	 73.	 How many triangles are there in the 
following figure ?

		

	 (A)	 20	 (B)	 24

	 (C)	 21	 (D)	 23

	 74.	F ind the missing letter in the 
following series.

		  B, E, K, Q, ____

	 (A)	U	  (B)	 V

	 (C)	 W	 (D)	 X

	 75.	 ACFJ : EGJN : : JLOS :

	 (A)	 NPSW	 (B)	 MORV

	 (C)	 MPPQ	 (D)	 NOOR

	 76.	F ind the odd one out.

		  (1) (2) (3) (4)

	 (A)	 (1)	  	 (B)	 (2)	  

	 (C)	 (3)	  	 (D)	 (4)

	 73.	 {ZåZm§{H$V AmH¥${V _| {H$VZo {Ì^wO h¢ ?

		

	 (A)	 20	 (B)	 24

	 (C)	 21	 (D)	 23

	 74.	 {ZåZ{b{IV ûm¥§Ibm _| bwßV Aja kmV H$a| &
		  B, E, K, Q, ____

	 (A)	U	  (B)	 V

	 (C)	 W	 (D)	 X

	 75.	 ACFJ : EGJN : : JLOS :

	 (A)	 NPSW	 (B)	 MORV

	 (C)	 MPPQ	 (D)	 NOOR

	 76.	 {^ÝZ H$mo kmV H$s{OE &

		  (1) (2) (3) (4)

	 (A)	 (1)	  	 (B)	 (2)	  

	 (C)	 (3)	  	 (D)	 (4)
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	 77.	 A cube is coloured red on all faces. It 
is cut into 64 smaller cubes of equal 
size. How many cubes have no face 
coloured ?

	 (A)	 2

 	 (B)	 8

	 (C)	 16

	 (D)	 24

	 78.	F ind out which of the following answer 
figures completes the figure matrix.

1 2 3 4

Answer Figures

	 (A)	 1	 (B)	 2
	 (C)	 3	 (D)	 4

	 79.	 Choose the odd one out.
	 (A)	 Onions	 (B)	 Cauliflower
	 (C)	 Radish	 (D)	 Garlic

	 80.	 Choose the odd one out.
	 (A)	 71	 (B)	 73
	 (C)	 79	 (D)	 91

	 77.	 EH$ KZ Ho$ g^r \$bH$m| H$mo bmb a§J go n|Q> {H$`m 

OmVm h¡ & Bgo 64 ~am~a AmH$ma dmbo N>moQ>o-N>moQ>o 

KZm| _| H$mQ>m OmVm h¡ & Eogo {H$VZo KZ h¢, {OZHo$ 

\$bH$ n|Q> {H$E hþE Zht h¢ ?
	 (A)	 2

 	 (B)	 8

	 (C)	 16

	 (D)	 24

	 78.	 H$m¡Z-gm CÎma AmH¥${V, AmH¥${V _¡{Q´>Šg H$mo nyam 
H$aVm h¡, kmV H$s{OE &

1 2 3 4

 CÎma AmH¥${V

	 (A)	 1	 (B)	 2
	 (C)	 3	 (D)	 4

	 79.	 {^ÝZ H$mo Mw{ZE &

	 (A)	 ß`mO	 (B)	 \y$bJmo^r
	 (C)	 _yybr	 (D)	 bhgyZ

	 80.	 {^ÝZ H$mo Mw{ZE &

	 (A)	 71	 (B)	 73
	 (C)	 79	 (D)	 91
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	 81.	F ind the missing number.
		  2, 3, 6, 18, 108, __________
	 (A)	 1944	 (B)	 1938
	 (C)	  970	 (D)	 1954

	 82.	 Which of the following number will be 
the missing number ?

5 19

11 13

?

	 (A)	 23

	 (B)	 29

	 (C)	 08

	 (D)	 None of these

	 83.	 Complete the following letter series.
		  a, b, c, z, y, x, d, e, f, _____, v, u.

	 (A)	 g	 (B)	 h

	 (C)	 z	 (D)	 w

	 84.	 What will be the number in the blank 
space ?

5 7 65
2 3 27
4 6 ?

	 (A)	 60

	 (B)	 48

	 (C)	 54

	 (D)	 None of the above

	 81.	 {dbwßV g§»`m H$mo kmV H$s{OE &
		  2, 3, 6, 18, 108, __________

	 (A)	 1944	 (B)	 1938
	 (C)	  970	 (D)	 1954

	 82.	 {ZåZ{b{IV _| go H$m¡Z-gr g§»`m bwßV g§»`m 
hmoJr ?

5 19

11 13

?

	 (A)	 23
	 (B)	 29
	 (C)	 08

	 (D)	 BZ_| go H$moB© Zht

	 83.	 {ZåZ{b{IV Aja ûm¥§Ibm H$mo nyU© H$a| &
		  a, b, c, z, y, x, d, e, f, _____, v, u.

	 (A)	 g	 (B)	 h

	 (C)	 z	 (D)	 w

	 84.	 [aŠV ñWmZm| _| Š`m g§»`m hmoJr ?

5 7 65
2 3 27
4 6 ?

	 (A)	 60

	 (B)	 48

	 (C)	 54

	 (D)	 CŠV _| go H$moB© Zht
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	 85.	F ind the missing letter.
		  B, C, E, G, ________

	 (A)	 Q

	 (B)	 A

	 (C)	 K

	 (D)	 Z

	 86.	 Which of the following diagrams 
represents correct relationship among 
earth, moon and planet ?

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 87.	 P, is brother of Q. R is mother of Q.  
S is father of R. T is mother of S. What 
is relation of P with T ?

	 (A)	 Grandson

	 (B)	 Granddaughter	  

	 (C)	 Great Grandson	

	 (D)	 Grandmother	

	 85.	 {dbwßV Aja H$mo kmV H$s{OE &
		  B, C, E, G, ________

	 (A)	 Q

	 (B)	 A

	 (C)	 K

	 (D)	 Z

	 86.	 {ZåZ{b{IV _| go H$m¡Z-gm {MÌ n¥Ïdr, M§Ð_m 
Am¡a J«h Ho$ _Ü` ghr g§~§Y H$mo Xem©Vm h¡ ?

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 87.	 P, Q H$m ^mB© h¡ & R, Q H$s _m± h¡ & S, R H$m 
{nVm h¡ & T, S H$s _m±± h¡ & P H$m T Ho$ gmW Š`m 
[aíVm h¡ ?

	 (A)	 nmoVm 

	 (B)	 nmoVr

	 (C)	 nanmoVm

	 (D)	 XmXr
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	 88.	 Count the number of squares in the 
given figure :

	 (A)	 9 	 (B)	 10

	 (C)	 14	 (D)	 18

	 89.	F ind the missing number.

1 2 3

4 5 6

7 8 9

27 38 ?

	 (A)	 48	 (B)	 49

	 (C)	 50	 (D)	 51

	 90.	F ind the missing term.

		

27

1
1

5
7 ?

3

343

	 (A)	 25	 (B)	 625

	 (C)	 125	 (D)	 50

	 88.	 Xr JB© AmH¥${V _| dJm] H$s g§» m̀ H$s JUZm H$s{OE :

	 (A)	 9 	 (B)	 10

	 (C)	 14	 (D)	 18

	 89.	 {dbwßV g§»`m H$mo kmV H$s{OE &

1 2 3

4 5 6

7 8 9

27 38 ?

	 (A)	 48	 (B)	 49

	 (C)	 50	 (D)	 51

	 90.	 {dbwßV nX H$mo kmV H$s{OE &

		

27

1
1

5
7 ?

3

343

	 (A)	 25	 (B)	 625

	 (C)	 125	 (D)	 50
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	 91.	  √0.0 _  _  _  0 64

2020 zeros

=

	 (A)	  0.0 _  _  _  0 8

1010 zeros
 

	 (B)	   0.0 _  _  _  0 8

55 zeros

	 (C)	  0.0 _  _  _  0 8

2019 zeros

 

	 (D)	 None of these

	 92.	 HCF of 4.80, 0.6 and 9.6 = 
	 (A)	 1.2
	 (B)	 1.02
	 (C)	 0.12
	 (D)	 None of these

	 93.	 Average  monthly income of a person is 
` 40,000. If income of a month having 
more or less than 30 days increases 
or decreases at the rate of ̀  1,000 per 
day, then what ̀  will be annual income 
of that person in year 2019 ?

	 (A)	  ` 4,86,000	 (B)	  ` 4,85,000

	 (C)	  ` 4,87,000	 (D)	 None of these

	 91.	
2020  eyÝ`

 √0.0 _  _  _  0 64 =

	 (A)	   0.0 _  _  _  0 8

1010  eyÝ`

	 (B)	   0.0 _  _  _  0 8

55 eyÝ`

	 (C)	  0.0 _  _  _  0 8

2019 eyÝ`
 

	 (D)	 BZ_| go H$moB© Zht

	 92.	 4.80, 0.6 VWm 9.6 H$m _hÎm_ g_mndV©H$ =
	 (A)	 1.2
	 (B)	 1.02
	 (C)	 0.12

	 (D)	 BZ_| go H$moB© Zht

	 93.	 EH$ ì`pŠV H$m Am¡gV _m{gH$ Am` ` 40,000 
h¡ & `{X 30 {XZ go A{YH$ `m H$_ dmbo _mh 
_| à{V{XZ H$s Xa go _m{gH$ Am` _| ` 1,000 
H$s d¥{Õ `m H$_r hmo OmVr h¡, Vmo df© 2019 _| 
Cg ì`pŠV H$s dm{f©H$ Am` {H$VZo ` hmoJr ?

	 (A)	  ` 4,86,000	 (B)	  ` 4,85,000

	 (C)	  ` 4,87,000	 (D)	 BZ_| go H$moB© Zht

Part – 4
   ^mJ – 4

gm_mÝ` J{UVGeneral Mathematics



		  	 10223/CST – HBE/RCE – EG

	 -28-	 Set-A

a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

	 94.	 The supplementary angle of ∠A in the 
adjoining figure is

		

A

B C D
110°58°

	 (A)	 52°	 (B)	 58°
	 (C)	 110° 	 (D)	 128°

	 95.	 If a side of ∆OAB is AB = 7 cm, then 
ratio of perimeters of circle of centre O 
and of rhombus ABCD are in the ratio 

			   A B

CD

O

60°

	 (A)	 π : 7	 (B)	 11 : 7
	 (C)	  44 : 49	 (D)	 11 : 28

	 96.	 In the following trapezium ABCD, x =
			 

A D

B C

O
4cm

15cm
5cm

x

	 (A)	 12 cm	 (B)	 4 cm

	 (C)	 20 cm	 (D)	 11 cm

	 94.	 g§b½Z {MÌ _| ∠A H$m gånyaH$ H$moU h¡ 

		

A

B C D
110°58°

	 (A)	 52°	 (B)	 58°

	 (C)	 110° 	 (D)	 128°

	 95.	 `{X ∆OAB H$s EH$ ^wOm AB = 7 go_r h¡, 
V~ Ho$ÝÐ O dmbo d¥Îm Ed§ g_MVw^©wO ABCD Ho$ 
n[a{Y`m| H$m AZwnmV h¡ 

		  A B

CD

O

60°

	 (A)	 π : 7	 (B)	 11 : 7
	 (C)	  44 : 49	 (D)	 11 : 28

	 96.	 {ZåZ g_bå~ MVw^w©O ABCD _|, x =

		

A D

B C

O4 go_r

15 go_
r 5 go_r

x

	 (A)	 12 go_r	 (B)	 4 go_r

	 (C)	 20 go_r	 (D)	 11 go_r
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	 97.	 In a relay race L runs at speed of  
10 km/hour in first 30 seconds, M runs 
8 km/hour in next 30 seconds and N 
runs 6 km/hour in next 60 seconds, 
then what was the average speed of 
L, M and N together ?

	 (A)	  24 km/hour	 (B)	 15 km/hour

	 (C)	  8 km/hour	 (D)	 7½ km/hour

	 98.	 In how many years simple interest of 
` 5,000 at the rate of 5% will become 
` 5,000 ?

	 (A)	 5	 (B)	 10
	 (C)	 20	 (D)	 40

	 99.	 P purchases a computer in ` 50,000 
and sells to Q at loss of 10%. Q spends 
` 5,000 on its repairing and sells to 
R at profit of 10%. Then difference in 
purchase prices of P and R is

	 (A)	  ` 0	 (B)	  ` 5,000

	 (C)	  ` 10,000	 (D)	 None of these

100.		 Dimension of a cuboid is
	 (A)	 1	

	 (B)	 2

	 (C)	 3

	 (D)	 8

	 97.	 EH$ [abo Xm¡‹S> _| L àW_ 30 goHo$ÊS> _| 10 {H$_r/
KÊQ>m H$s Mmb go Xm¡‹S>Vm h¡, M AJbo 30 goHo$ÊS> 
_| 8 {H$_r/KÊQ>m H$s Mmb go Xm¡‹S>Vm h¡, VWm N 
AJbo 60 goHo$ÊS> _| 6 {H$_r/KÊQ>m H$s Mmb go 
Xm¡‹S>Vm h¡, V~ L, M VWm N H$m EH$ gmW Am¡gV 
Mmb Š`m Wm ?

	 (A)	  24 {H$_r/KÊQ>m	 (B)	 15 {H$_r/KÊQ>m

	 (C)	  8 {H$_r/KÊQ>m	 (D)	 7½ {H$_r/KÊQ>m

	 98.	 5% H$s Xa go ̀  5,000 H$m gmYmaU ã`mO {H$VZo 
df© _| ` 5,000 hmo Om`oJm ?

	 (A)	 5	 (B)	 10
	 (C)	 20	 (D)	 40

	 99.	 P EH$ H$åß`yQ>a ` 50,000 _| IarXVm h¡ VWm 
10% H$s hm{Z CR>mH$a Q  H$mo ~oM XoVm h¡ &  
Q CgHo$ [ano`[a¨J na ` 5,000 IM© H$aVm h¡ 
Am¡a CgHo$ ~mX 10% H$m bm^ CR>mH$a R H$mo 
~oM XoVm h¡ & V~ P VWm R Ho$ Cg H$åß`yQ>a Ho$ 
H«$`_yë`m| _| AÝVa h¡ 

	 (A)	  ` 0	 (B)	  ` 5,000

	 (C)	  ` 10,000	 (D)	 BZ_| go H$moB© Zht

	100.	 EH$ KZm^ H$s {d_m h¡

	 (A)	 1

	 (B)	 2
	 (C)	 3

	 (D)	 8
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101.		 Base and height of  a cone, a  
hemisphere and a cylinder are equal. 
If volume of the cone is 100 cm3, then 
volumes of the hemisphere and the 
cylinder will be respectively.

	 (A)	 800 cm3, 900 cm3

	 (B)	 200 cm3, 300 cm3

	 (C)	 300 cm3, 400 cm3 

	 (D)	 None of these

	102.	 Area of a face of a cuboid is 16 cm2.  
Mass of 16 cm3 water is 4 kg and mass 
of empty cuboid is 1 kg. Total mass of 
the cuboid when water is filled upto 
1 minute is 5 kg, then what will be 
mass of cuboid after filling water for  
4 minutes ?

	 (A)	 16 kg

	 (B)	 17 kg

	 (C)	 64 kg

	 (D)	 None of these

	103.	 Find difference of place values of 
second digits of third and fifth whole 
numbers of following series when 
arranged in descending order :

		  397, 289, 315, 225, 1681, 484, 237
	 (A)	 0

	 (B)	 60

	 (C)	 10

	 (D)	 7

	101.	 EH$ e§Hw$, EH$ AÕ©Jmobm Ed§ EH$ ~obZ Ho$ AmYma 
VWm D±$MmB© ~am~a-~am~a h¢ & `{X e§Hw$ H$m 
Am`VZ 100 go_r3 h¡, V~ AÕ©Jmobm Ed§ ~obZ 
Ho$ Am`VZ hm|Jo H«$_e:

	 (A)	 800 go_r3, 900 go_r3

	 (B)	 200 go_r3, 300 go_r3

	 (C)	 300 go_r3, 400 go_r3 

	 (D)	 BZ_| go H$moB© Zht

	102.	 EH$ KZm^ Ho$ EH$ \$bH$ H$m joÌ\$b 16 go_r2 
h¡ & 16 go_r3 nmZr H$m Ðì`_mZ 4 {H$J«m h¡ VWm 
Imbr KZm^ H$m Ðì`_mZ 1 {H$J«m h¡ & Imbr 
KZm^ _| EH$ {_ZQ> nmZr ^aZo na Hw$b Ðì`_mZ 
5 {H$J«m ahVm h¡, V~ 4 {_ZQ> ~mX KZm^ H$m 
Ðì`_mZ {H$VZm hmoJm ?

	 (A)	 16 {H$J«m 

	 (B)	 17 {H$J«m

	 (C)	 64 {H$J«m

	 (D)	 BZ_| go H$moB© Zht

	103.	 O~ {ZåZ loUr KQ>Vo H«$_ _| ì`dpñWV H$s OmVr h¡ 
V~ Vrgar Ed§ nm±Mdr nyU© g§»`mAm| Ho$ {ÛVr` A§H$m| 
Ho$ ñWmZr` _mZm| H$m AÝVa kmV H$s{OE :

		  397, 289, 315, 225, 1681, 484, 237

	 (A)	 0

	 (B)	 60
	 (C)	 10
	 (D)	 7
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	104.	 Arrange following in ascending order :

		

3 7 3
1.4, 1 , ,

4 8 0.4

	 (A)	  
3 7 3

, , 1 , 1.4
0.4 8 4

	 (B)	  
3 7 3

1 , , 1.4,
4 8 0.4

	 (C)	  3 3 7
1.4, 1 , ,

4 0.4 8

	 (D)	
7 3 3

, 1.4, 1 ,
8 4 0.4

	105.	 Which number be added in 45, 35, 65, 
50 so that the new numbers become 
proportionate ?

	 (A)	  5	 (B)	  – 5
	 (C)	  25	 (D)	 – 25

	106.	 In year 2019, population of a country is 
6×106 in which ratio of male and female 
is 7 : 5. If number of male decreases 
5% and number of female increases 
5%, then what will be population of that 
country in year 2020 ?

	 (A)	 59.50×105

	 (B)	 59.50×103 

	 (C)	 6×106 

	 (D)	 None of these

	104.	 {ZåZ{b{IV H$mo ~‹T>Vo H«$_ _| ì`dpñWV H$s{OE :

		

3 7 3
1.4, 1 , ,

4 8 0.4

	 (A)	  
3 7 3

, , 1 , 1.4
0.4 8 4

	 (B)	  
3 7 3

1 , , 1.4,
4 8 0.4

	 (C)	  3 3 7
1.4, 1 , ,

4 0.4 8

	 (D)	
7 3 3

, 1.4, 1 ,
8 4 0.4

	105.	 45, 35, 65, 50 _| H$m¡Z-gr g§»`m Omo‹S>r Om` 
H$s ZB© g§»`mE± g_mZwnmVr hmo ?

	 (A)	  5	 (B)	  – 5
	 (C)	  25	 (D)	 – 25

	106.	 EH$ Xoe H$s OZg§»`m df© 2019 _| 6×106  h¡ 
{Og_| nwéfm| Ed§ _{hbmAm| H$m AZwnmV 7 : 5 
h¡ & `{X nwéfm| H$s g§»`m _| 5% H$r H$_r VWm 
_{hbmAm| H$s g§»`m _| 5% H$s d¥{Õ hmo OmVr h¡ 
Vmo df© 2020 _| Cg Xoe H$s OZg§»`m {H$VZr 
hmoJr ?

	 (A)	 59.50×105

	 (B)	 59.50×103 

	 (C)	 6×106

	 (D)	 BZ_| go H$moB© Zht
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	107.	 Population of a village in 2016, 2017, 
2018 and 2019 are respectively 5000, 
5050, 5500 and 5060. The population 
growth rate of that village between 
2016-2017 and population decline rate 
between 2018-2019 are respectively

	 (A)	 4%, 10%	 (B)	 5%, 8%

	 (C)	  1%, 8%	 (D)	 None of these

	108.	 Difference of 0.5% and 0.05% of  
` 2,000 is equal to what percentage 
of ` 2,000 ?

	 (A)	  4.5%
	 (B)	  9%
	 (C)	  0.45%
	 (D)	 None of these

	109.	 0.05 % of 10% of ` 10,800 = 
	 (A)	 ` 540
	 (B)	 ` 0.54
	 (C)	 ` 54
	 (D)	 None of these

	110.	 P travels 6 km in 10 minutes, Q travels 
700 meters in 5 minutes, R travels 

60,000 cm in 
1

72
 hours, and S travels 

2 km 500 meters in 360 seconds. Who 

travels fastest ?
	 (A)	 P	 (B)	 Q

	 (C)	 R	 (D)	 S

	107.	 EH$ Jm±d H$s OZg§»`m 2016, 2017, 2018 
VWm 2019 _| H«$_e: 5000, 5050, 5500 
VWm 5060 h¡ & Cg Jm±d H$s 2016-2017 Ho$ 
~rM OZg§»`m d¥{Õ Xa Ed§ 2018-2019 Ho$ ~rM 
OZg§»`m õmg Xa H«$_e: h¡ 

	 (A)	 4%, 10%	 (B)	 5%, 8%

	 (C)	  1%, 8%	 (D)	 BZ_| go H$moB© Zht

	108.	 ` 2,000 H$m 0.5%  Ed§ 0.05%  H$m AÝVa  
` 2,000 Ho$ {H$VZo à{VeV Ho$ ~am~a h¡ ?

	 (A)	  4.5%
	 (B)	  9%
	 (C)	  0.45%
	 (D)	 BZ_| go H$moB© Zht

	109.	 ` 10,800 H$m 10% H$m 0.05 % =
	 (A)	 ` 540
	 (B)	 ` 0.54
	 (C)	 ` 54

	 (D)	 BZ_| go H$moB© Zht

	110.	 P MbVm h¡ 10 {_ZQ> _| 6 {H$_r, Q MbVm h¡ 
700 _rQ>a 5  {_ZQ> _|, R MbVm h¡ 60,000 go_r 
1

72
 KÊQ>m _|, VWm S MbVm h¡ 2 {H$_r 500 _rQ>a 

360 goHo$ÊS> _| & H$m¡Z g~go VoO MbVm h¡ ?

	 (A)	 P	 (B)	 Q

	 (C)	 R	 (D)	 S
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	111.	 “Amn Eogo ~mobVo h¢, _mZmo _wI go \y$b P‹S>Vo hm| ”- 

dmŠ` _| {H«$`m {H$g H$mb H$s h¡ ?

	 (A)	 g§^mì` dV©_mZ H$mb 

	 (B)	 g§{X½Y dV©_mZ H$mb

	 (C)	 nyU© dV©_mZ H$mb

	 (D)	 VmËH$m{bH$ dV©_mZ H$mb

	112.	 {ZåZm§{H$V _| {H$g dmŠ` H$s {H«$`m g§{X½Y dV©_mZ 

H$mb _| h¡ ?

	 (A)	 A~ _¢ Š`m H$ê±$ ? 

	 (B)	 Vw_ Mmhmo Vmo A^r PJ‹S>m {_Q> Om`&

	 (C)	 Mm` n{Îm`m| go ~ZVr hmoJr&

	 (D)	 H$ht nmZr ~agm hmoJm, Š`m§o{H$ 	  

R>§S>r hdm Mb ahr h¡&

	113.	 {ZåZm§{H$V eãXm| _| {H$g eãX H$m g§{Y-{dÀN>oX 

JbV h¡ ?

	 (A)	 A{^foH$ - A{^ + goH$ 

	 (B)	 g§`moJ - g_² + `moJ

	 (C)	 AmÀN>mXZ - Am + N>mXZ

	 (D)	 {dgJ© - {d: + gJ©

	114.	 ‘ emídV’ eãX H$m {dbmo_ eãX h¢

	 (A)	 j{UH$ 

	 (B)	 Zída

	 (C)	 ZmedmZ

	 (D)	 {dZmer

	115.	 ‘ Omo AmJ«h gË̀  hmo’ _____ Ho$ {bE EH$ eãX h¡ &

	 (A)	 XþamJ«h

	 (B)	 AmJ«h

	 (C)	 {ZamJ«h

	 (D)	 gË`mJ«h

	116.	 ‘AmñVrZ H$m gm±n ’ _whmdao H$m AW© h¡

	 (A)	 H$nQ>r {_Ì 

	 (B)	 gÀMm {_Ì

	 (C)	 YyV© {_Ì

	 (D)	 ñZohr {_Ì

Part – 5
    ^mJ – 5

General Hindi/ gm_mÝ` {hÝXr



		  	 10223/CST – HBE/RCE – EG

	 -34-	 Set-A

a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

	117.	 ZrMo {XE JE eãXm| Ho$ gå_wI àË`oH$ eãX H$m 

g§{Y {dÀN>oX A§{H$V h¡& BZ_| go {H$g {dH$ën 

H$m g§{Y {dÀN>oX Ìw{Q>nyU© h¡ ?

	 (A)	 ApÝdV - AZ² + BV

	 (B)	 fÊ_mg - fQ> + _mg

	 (C)	 q~~moîR> - q~~ + AmoîR>

	 (D)	 Ahmoê$n - AhZ² + ê$n

	118.	 {ZåZ{b{IV _| go {H$g eãX _| hbÝV bJoJm ?

	 (A)	 OJÝZmW

	 (B)	 AYrZ

	 (C)	 {d{YdV

	 (D)	 gyMrnÌ

	119.	 ‘ _¢ BgH$m dh> AW© Zht bJmVm Omo {H$ Amn bJmVo 

h¢ &’ Bg dmŠ` _| {H$g àH$ma H$m Xmof h¡ ?

	 (A)	 H${WV nXËd Xmof

	 (B)	 Ý`yZ nXËd Xmof

	 (C)	 A{YH$ nXËd Xmof

	 (D)	 AH«$_Ëd Xmof

	120.	 ‘ ~w{Õ ^«îQ> hmoZm’ dmŠ` H$mo ì`ŠV H$aZo dmbm 

_whmdam H$m¡Z-gm h¡?

	 (A)	 AŠb na nËWa n‹S>Zm 

	 (B)	 MŠH$a _| n‹S>Zm

	 (C)	 YmoIm ImZm

	 (D)	 Cëby ~ZmZm

	121.	 ‘ Z H$maU hmoJm, Z H$m`© hmoJm’ H$mo ì`ŠV H$aZo 

dmbr H$hmdV h¡

	 (A)	 {df H$s Jm±R> ImoX  \|$H$Zm 

	 (B)	 dh> Ry>±R> H$mQ> XoZm {Og na Cëby ~¡R>o

	 (C)	 Z ahoJm ~m°g, Z ~OoJr ~m°gwar

	 (D)	 Z VrZ ~wbmAmo, Z Voah Am`|

	122.	 {ZåZm§{H$V _| AÕ©{dd¥Îm _Ü` ñda h¡ 

	 (A)	 A 	 (B)	 Am

	 (C)	 B	 (D)	 Am¡

	123.	 {ZåZ{b{IV _| ewÕ eãX H$m¡Z-gm h¡ ?

	 (A)	 AZoH$m|	 (B)	 Abj

	 (C)	 AYrZ	 (D)	 nm¡éfËd



a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

		  	 10223/CST – HBE/RCE – EG

	 -35-	 Set-A

	124.	 {ZåZ{b{IV _| H$m¡Z-gm eãX g§km, nwpëb̈J ê$n h¡ ?

	 (A)	 {H$gb` 

	 (B)	 OmVwO

	 (C)	 Zr{V

	 (D)	 CÁÁdbZ

	125.	 ‘ _`ya’ H$m VX²^d ê$n h¡

	 (A)	 _D$a 

	 (B)	 _m¡a

	 (C)	 _Ca

	 (D)	 _moa

	126.	 ‘ gaXma’ {H$g ^mfm H$m eãX h¡ ?

	 (A)	 Aa~r 

	 (B)	 \$magr

	 (C)	 VwH$s©

	 (D)	 nwV©Jmbr

	127.	 ZrMo Mma eãX {X ò J ò h¢& BZ_| go EH$ eãX ~o_ob 

h¢ ̀ mZr eof VrZ eãX n`m©`dmMr h¢& AmnH$mo Cg 

eãX H$m M`Z H$aZm h¡ Omo ~o_ob h¢ &

	 (A)	 CXH$	 (B)	 Aå~w

	 (C)	 dm{O	 (D)	 dm[a

	128.	 {ZåZm§{H$V _| H$m¡Z-gm `w½_ nwpëb¨J-ñÌrqbJ H$m 

Zht h¡ ?

	 (A)	 JÝZm, n{h`m

	 (B)	 AmQ>m, amoQ>r

	 (C)	 Xhr, ZXr

	 (D)	 nmZ, ~m±g

	129.	 ZrMo {XE JE eãXm| _| H$m¡Z-gm eãX EH$dMZ h¡ ?

	 (A)	 bVmE± 

	 (B)	 Jw[‹S>`m

	 (C)	 Jm`|

	 (D)	 Jm¡E±

	130.	 {ZåZ{b{IV eãXm| Ho$ Omo‹S>o _| nhbm eãX EH$dMZ 

VWm Xÿgam eãX ~hþdMZ ê$n h¡& BZ_| go {H$g Omo‹S>o 

_| EH$dMZ `m ~hþdMZ gyMH$ eãX JbV h¡ ?

	 (A)	 F$Vw - F$VwE± 

	 (B)	 nmR>embm - nmR>embmE±

	 (C)	 gagmo - gagm|

	 (D)	 {M{‹S>`m - {M{‹S>`m±
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	131.	 I take a ladder and climb to the roof to 
be ____________ the house.

	 (A)	 over	
	 (B)	 in
	 (C)	 on	
	 (D)	 within

	132.	 The cat jumped from the chair ________ 
the table.

	 (A)	 above	 (B)	 onto
	 (C)	 in	 (D)	 on

	133.	 How _______ _______ _______ in a 
cooker ?

	 (A)	 was cake bake

	 (B)	 is cake bake

	 (C)	 cake is baked 

	 (D)	 is cake baked

	134.	 It is my _________ to vote.	
	 (A)	 rite	 (B)	 right
	 (C)	 write	 (D)	 writ

	135.	 I am ___________ for all that you have 
done for me.

	 (A)	 gratefull
	 (B)	 greatfull
	 (C)	 grateful
	 (D)	 greatful

	136.	 Select the indirect speech for 
		  Meeta asked me, “Are you fine ?”
	 (A)	 Meeta asked me that I was fine.
	 (B)	 Meeta told me whether I was 

fine.
	 (C)	 Meeta asked me if I was fine. 
	 (D)	 Meeta asked me if I had fine.

	137.	 ______________ assets cases are 
investigated by the CBI.

	 (A)	 Disproportionate
	 (B)	 Improportionate 
	 (C)	 Misproportionate
	 (D)	 Unproportionate

	138.	 She was sporting an English hat and 
caught everyone’s attention.

		  In this sentence, sporting means 
		  _______
	 (A)	 playing with
	 (B)	 showing off
	 (C)	 having fun with
	 (D)	 doing tricks with

	139.	 Ritu is one of the best ________
	 (A)	 Cricketer
	 (B)	 Cricketers
	 (C)	 Cricket player
	 (D)	 Crickets player

Part – 6
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	140.	 A colt is a
	 (A)	 young female horse
	 (B)	 a young male or female horse 
	 (C)	 old male horse
	 (D)	 young male horse

	141.	 His attempt to teach __________ to fly 
an aircraft can be dangerous.

	 (A)	 himself	 (B)	 itself
	 (C)	 themself	 (D)	 herself

	142.	 She was listless at the end of a hard 
day’s work.

		  Here listless means __________
	 (A)	 bored 	 (B)	 unenergetic
	 (C)	 angry	 (D)	 irritated

	143.	 Give one word for 
		  One who does not believe in God.
	 (A)	 atheist 	 (B)	 religious
	 (C)	 disbeliever	 (D)	 blessed

	144.	 A person who makes or repairs shoes 
is called a __________

	 (A)	 bootee 	 (B)	 shooter
	 (C)	 carpenter	 (D)	 cobbler

	145.	 By whom _______________ ?

	 (A)	 was this reported

	 (B)	 this was reported

	 (C)	 this reported

	 (D)	 is this been reported

	146.	 The rocket ___________

	 (A)	 had tested by them 

	 (B)	 had been test

	 (C)	 had been tested by them

	 (D)	 has tested by them

	147.	 She ____________ that she would 
come back the next day.

	 (A)	 said
	 (B)	 asked
	 (C)	 enquired
	 (D)	 ordered

	148.	 The ________ ________ ________ 
monk gave me the advice.

	 (A)	 good old spanish
	 (B)	 old good spanish 
	 (C)	 spanish old good
	 (D)	 good spanish old

	149.	 This is ___________ I lost my purse.
	 (A)	 where	 (B)	 what
	 (C)	 that	 (D)	 which

	150.	 Roti ___________ rice for lunch – its 
your choice. Please let me know what 
you prefer.

	 (A)	 but
	 (B)	 and
	 (C)	 or
	 (D)	 yet
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    SET –  A 
CÎma A§{H$V H$aZo H$m g_` :            2.30 K§Q>o	 A{YH$V_ A§H$ : 200
Time for marking answers : 2.30 Hours	 Maximum Marks : 200
ZmoQ> :
1.	 Bg àíZ nwpñVH$m _| {ZåZ ^mJ hm|Jo -
		 àW_ àíZ nÌ-g^r Ho$ {bE A{Zdm`© – 150 Marks
			  à.g§.

	 ^mJ –	 (1)	 (1)	gm_mÝ` AÜ``Z	 –		 1 – 40
			   (2)	 amÁ` H$m gm_mÝ` kmZ	
	 ^mJ –	 (2)	 H$åß`yQ>a H$m gm_mÝ` OmZH$mar	 –		 41 – 70
	 ^mJ –	 (3)	 gm_mÝ` _mZ{gH$ `mo½`Vm	 –		 71 – 90
	 ^mJ –	 (4)	 gm_mÝ` J{UV	 –		 91 – 110
	 ^mJ –	 (5)	 gm_mÝ` {hÝXr	 –		 111 – 130
	 ^mJ –	 (6)	 gm_mÝ` A§J«oOr	 –		 131 – 150
			   {ÛVr` àíZ nÌ 					     – 50 Marks
			   (A) ñQ>oZmoJ«m\$s ({hÝXr) AWdm (~) ñQ>oZmoJ«m\$s (A§J«oOr)
			   narjm{W©`m| H$mo {ZX}e {X`m OmVm h¡ {H$, àW_ àíZ nÌ A{Zdm`© h¡ VWm {ÛVr` àíZ nÌ (A) Ed§ (~) _| go 	

	 Ho$db EH$ hr {df` MwZ| &
	 àË`oH$ àíZ 1 A§H$ H$m h¡ & Hw$b 200 àíZ H$aZo A{Zdm`© h¡ &
2.	 àíZm| Ho$ CÎma, Xr JB© OMR CÎma-erQ> (Am§gaerQ>) na A§{H$V H$s{OE Ÿ&
3.	 JbV CÎma A§{H$V H$aZo na ¼ A§H$ H$mQ>o Om`|Jo &
4.	 {H$gr ^r Vah Ho$ H¡$bHw$boQ>a `m bm°J Q>o~b Ed§ _mo~mBb \$moZ H$m à`moJ d{O©V h¡ Ÿ&
5.	 OMR CÎma-erQ> (Am§gaerQ>>) H$m à`moJ H$aVo g_` Eogr H$moB© AgmdYmZr Z H$a|/~aV| {Oggo `h \$Q> Om`o 

`m Cg_| _mo‹S> `m {gbdQ> Am{X n‹S> Om`o {OgHo$ \$bñdê$n dh Iam~ hmo Om`o Ÿ&
Note :
1.	 This question Booklet contains Parts –
	 Paper  I – Common Question for All – 150 Marks							     

	 Q. No.
	 Part – (1)	 (1)	 General Studies	 –	 1 – 40
		  (2)	 General Knowledge of State	
	 Part – (2)	 General Knowledge of Computer	 –	 41 – 70
	 Part – (3)	 General Mental Aptitude	 –	 71 – 90
	 Part – (4)	 General Mathematics	 –	 91 – 110
	 Part – (5)	 General Hindi	 –	 111 – 130 
	 Part – (6)	 General English	 –	 131 – 150
	 Paper II –			   50 Marks
	 (A) Stenography (Hindi) OR (B) Stenography (English) 
	 Paper – I is compulsory and the Candidate are directed to choose only one subject from 	
	 Paper – II (A) and (B).
		  Each question carries 1 mark. All 200 questions are compulsory.

2.	 Indicate your answers on the OMR Answer-Sheet provided.
3.	 ¼ mark will be deducted for each wrong answer.
4.	 Use of any type of calculator or log table and mobile phone is prohibited.
5.	 While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does 

not get torn or spoiled due to folds and wrinkles.
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